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TE 09(Motor Vehicle Mechanic): Series — B

Question

Answer Options

T aE] # dold F goude & Heparer

AT far gl

A. TEcaredur §q Haeaceeleration due to
gravity

tyres of a car standing on flat road weighing
1000 kg is

Ratio of weight to mass of an object equals B. Wuerdr /density
C 1
D. Rafafése aormT /Specific weight
2. HCHAEIGT TRA F dlrd Ay, Peeafad | A, Reawidde & sdareinforcement
F YT R ST & steel chords
In making automobile Tires , following is | B. T§15 /Rubber
used C. s /Nylon
D. 39 GHT TART
, All the above materials
3.0 u urder W 3ee H W@ ¢ RAn & By onar | AL sed e
T 3TF Uy oW 34@73@*5( T S a vertical straight line
g B. qu&ifas /parabolic
A parcel is dropped from a flying aero plane. | C. gedm{ feircular
Its path can be approximated as D. [T ST /zigzag
4. RIAWRE W tan(4s) T HeAT § A 172
Value of trigonometric ratio tan (45) equals g : (1)
D. 1/4
3.1 1000 T, aoftaral s ww o 18/@ss 3 | A, 10005t /1000Toules
g T & & fas Fat & B. 5003ifer /5007oules.
Kinetic energy of car mass of 1000 kg| ¢ 1siter /1Joule
moving at 1 m/sec is D. wiar @&z & 1000 fFar. #1000 kg m
per sec
6. o v @i ) ARad Fod @ P S ¥ A.9.81m/sz2
T I T g ol mes,
When a ball is dropped from a certain height D. 1 m/s?
its acceleration will be equal to '
7. um wHdd WA W @S, 1000 fRam aoer & | AL 250 fRa Kg
FT 4 T W W@ FET 9 99 & g | B, 1000 R /Ke
awr & C. 500 Rl /Keg
Sum total of vertical Reaction Forces at 4! D. 10 f&ai, /Kg
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T(\QI‘O. Question Answer Options
8.| druwEiFE ¥ O Rt W, oF dear & | A, FA giar & /Reduces
T Bﬁ?lT & B. sedr g /Increases
At lower gears of the gearbox, Torque | C. Sgea 74l / Remains same
increases and speed D. @ gt ;@ 3
The two are not related
9. =% ¥ O wer gur 39 F& F @IF F| A, FE [Caster
FOTH  #gd gl B. ¥@afer [Steering angle
Angle between steering axis and the vertical | C. @ 3o /Toein
axis of the wheel is called D. & 33T /Toe out
10| #ex ager & uw ARG F@OeR & GaRT @dr | A FET W9 # RR TFEA O Sl R0
g1 power transfer from main shaft to rear
A differential assembly in a motor vehicle axle
allows B. SR T gRR I & R rpm &t
' giel &ar &l
allows different rpm of left and right
wheels
C. <Y AT g i @ TH [pm H Bled
& &l |
allows equal rpm of left and right wheels
D. 3T Gl @0 gt &ar B
allows all of the above
11  aR us wifcaw stec @ dora & Wr @7 § ] A, 39S o 38 gidr &
ar GiEEsT g & e its diameter increases
If a metallic Bolt is pulled in tension then | B. 35 A HA FIT §
according to Poisson effect - its Diameter decreases
C. o # +15 Iiade aer
no change in diameter
D. %o Sarar 7gT Sif el
: : unpredictable
12|  sw uE 0.5 X oE F R 60 o v | A @
G e
& ¥ gearwr H =oldl &l D. /6
When a 0.5 meter long wiper sweeps an
angle of 60 degrees The tip moves circularly
by adistance of ...... meter
13| A< goiw & WA AR e, FRAME A7 | A, gIET /double
* gl , B. 3mer /Half
In a 4 —stroke IC engine cam shaft speed is| C. frdr &Y a;rfﬁ‘m'r
...... the crankshaft speed can be any multiple
D. |AW fequal
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Q. : .
No. Questlon Answer Op‘t;ons
14 Wﬁﬁmmmgéaﬁwﬁ A. =1 ST eTHar
& Low fuel efficiency
A high Carbon Monoxide content in the | B. fawrera vadire
exhaust means : Toxic exhaust
C. 3rayet get
Incomplete combustion
D. 39U |3l / all of the above
15| v wondr & wemN W uw 3O A. TFERT % CO &I & &ar §
IReds ) reduces CO content of exhaust
A catalytic converter fitted to exhaust system | B. ¥R &l & #cr ¢
' reduces noise
C. SeeT &THAT I JURar %1mpr0ves fuel
efficiency
D. 39UFT F HIg el
none of the above
16| ICZere &7 H9% emerehr gl A. [ ITH @vs 3R
Connecting rod of an IC engine has I or H section shape
B. Z®vog /7 section
C. 3FaR frectangular
D. geammiX /circular
17 ww 3% 93a Reat f&ir & girgar 05 A 25N
NITtes &1 oy dser dr SPua oy | O 0 N
TEiT 3 7 gl D. =T [Zero
A brake pedal return spring has a stiffness of
0.5 N/millimeter. If the pedal press is 5 mm
then the force in the spring will be _
18 faeya e dea & # 3garer R | AL IC 59T & weRe &
ST & starter of IC engine
Principle of electro magnetism is employed | B. ¥HfREE /thermostat
in C. A% /muffler
D. 3R qRads
catalytic converter
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Q. g ' L
No. Question Answer Options
19| voftw & ey W & g § Ruer & | A 0.112,0.017
fpaT 3f o T B. 0.118,0.020
ITER A ST B sw{rd d ¢ 0110, 0.015
@) ©l D. 0.119,0.020
External diameters of a pin are measured as
shown in Figure. The ovality and Taper are
...... (respectively) :
-~ A F-s Bl
=100.008
B2 =100.100
B3=
h 4 4 A 4 100.118
AT=100.516  A2=100.181  A3=100.115
20| &t @1 BHP &1 T #fa far oer | A, @R $F /Torque wrench
gl B. s@=#ARY /Dynamometer
- BHP of an engine is measured by C. @ei#e] /Tachometer
D. g /Odometer
21 feea g3@ & AT FdeR Bl A. T vl 30T A wEl g e A
Piston heads are dome shaped ASE Bl
To help proper mixing of air fuel
mixture
B. 3cUIEeT i W Salal
Ease of manufacturing
C. qeet /Balancing
D. ®ise 4, H 96kt
7 to increase crankshaft speed
220 glew (e & A9 @ Ifac FI A. 3mgf&T /Frequency
Hertz ( symbol Hz) is unit for measuring B. 39 /Speed
' C. TA /Acceleration
. D. #HesT /Retardation
23 uw & e A dueH & &g Sl TR H | A R H ST A€ RhAr S HhdT
& e ' ‘ Gears can be not used
To transmit power between shafls in the same | B. defe @ gfed & 3qAer fhar o @l &
direction ' Belt & pulley can be used
C. I TIHe T FTANT {2 ST &
Chain sprocket can be used
D. 39t Tl aer gl

All of the above are correct statements.
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1%0_ | Question Answer Options
24 IC Som #, Rt @ S T G G | A, Rieed # erherar daast @
& gHe gl Average force pushing the Piston
Area of piston multiplied by mean pressure in | B- AAraa wiaeer /Avearge stress
an IC engine equals C. 3T T /Average torque
D. HlawemFe HRpm
Rpm of crankshaft
25 g & wofreor fRar oA g A. TdI& o7 [Spark plug
Fuel is atomized in B. wamiex /Bvaporator
C. #AFerx /Muffler
D. g3 / Injector
260 offrc com _ awRw = | A 005
LT P
Shaft Diais 50 + 0.050/+0.035 and Hole D. 0.005
diameter is 50 +0.050/+0.045.
The maximum clearance is |
27, orR WY, e U aeEEe_ gar § A. SIET felastic
. Tyre Rubber is much more ....than Steel B. a4 /ductile
C. smgrdasy /malleable -
D. 3% gaer /stronger
28 e glwoT g F DU 9 ufdee s | A GRS w0 Yar & e
e efEd fRar st § g9 softew Slope of the initial straight line
ST & W B. 3ifaw aféser ufdaer
When stress is plotted versus strain for a metal  Final breaking stress
in tension test, Elastic modulus equals the C. i afdr a=
Final breaking strain
D. sfdar gfeer & @ & g
Ratio of breaking stress to strain
29 ue & FRT §ees WY Ao # A | A FERT AT /Spring washer
& ARy & WA oy Srar g B. #= anr /standard washer
To prevent loosening in a bolted joint due to | C. aye= {Tapered
vibration........, washers are used D. ¥T /Thick
30 gdor WIF Forg R 7 3UGr AT oM@ | A, TR A A=K SiE9
&l Constant mesh gear box
Friction cone clutch is used in B. TERr /Synchromesh
C. S-S TS aieg
In-line sliding gear box
D. 3ulad H Fi gr

None of the above

Page 6 of 14




TE 09(Motor Vehicle Mechanic): Series -~ B

Q. . .
No. Question Answer Options
31 VT A guRa ¥ v aReEr | A. Bhp
Ty B. gt % Tdheliex AKm
VVT is introduced to improve K per liter of fuel
C. 3cHod FH LAl &
reduce emissions
D. 3uteEd @l /all of the above
32| fafdisr o @ & S e A. FiTT AT A FAFTH A
Cylinder head is made of Cast Iron or Aluminum Alloy
B. diET /copper
C. 9rga /Brass
N D. & Bronze
33| weierE AR A W SART R A.ﬁﬂkﬂi‘f%&mﬁaﬂmmmﬁﬁw
Connecting rod is made of High grade Alloy Steel or Aluminum
B. "gfed giar /Cast iron
C. @8 /Bronze
D. argels /Nylon
34 aawa@ﬁ:%hta’r.%mm%ﬂw A. THRAT AT FHTT e grar
HHATS AT A (deTY) Does not stretch or contract
When a sheet of metal is bent, the middle | B. "t giar /Contracts
plane or line (neutral) C. garar /Stretches
D. F& =gl S o GehdiUnpredictable
35|  uwe TATeiE o & o0 Tt 3UAA=80 ce | A. 8090
For FemiE AEE=10 cc IER  HAIS g' ég iggoo
T T D. 90+ 10
For a single cylinder engine swept volume=380
cc and clearance volume =10 cc. Then its
compression ratio 18 4
36 ABS F & AU & A KT JEARAT | A, Th YU /Wheel rotation
gl B. @& [Torque
ABS function requires measurement of C. amaaeT /Temperature
D. %heX /Camber
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Q. . .
No. Question Answer Options
37 Hrr guin, e & fAT @ld wroad deg & AL H
AR H TR H IUIGT BT & BV ,
For the shaft shown which force produces C. ?Ham_/b()ﬁ_lv and H
torque about the cente . D. alat 8 78 /Neither
V, Vertical
force
. H, Horizontal
"~ force
3 Mo A RAME féw dw FX A go F| A, el dee, atex 9, st o, e
3MegIfer & forw wgr Affher dieda g R, Fold AU, doF
The correct checking sequence  for Fan belt, water leak, oil leak, tire
overheating of an engine in a car when pressure, clutch slippage, brakes
reported to garage is B. gt d f&ufd, ofiders aurar, de®
TeréT, AT SiFE IEA .
Engine condition, coolant quality, self.
starter, gear box oil
C. 91T & Ul UIR, TR $r 2ufy,
Compression pressure of the engine, tire
condition, fuel quality, suspension,
D. et dec, dleX s, ded), wwmafdT
Fan belt, water leak, battery, Alternator.
39| dad R cm & & 99 § S v g@y w| A 2enr? /360
: 2
A @@t g ¥ fer Rab & ot & | B 2 /360
. ~ C. enr? /360
HROT [d5fes UT Fol T Aol § D. 2 omr?
There are two wipers of length R cm which do
not overlap. The total surface area on the
windshield due to rotation of Theta degrees is
40]  ICESeT # 3=lelc dTed ¥ @S, oaTd ded & | A. ®rer /Smaller
Sl & B. asr /Bigger
In an IC engine Size of an inlet valve| C. @& /Identical
S compared to exhaust valve D. 3R § FE g
None of the above
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Q. . e
No. Question Answer Options
41| ICseeT & fafelst g & & AT Weg | A, FSAT 30T Odg &7 dekT
IS fohaT TR § Increasing heat transfer surface area
Cylinder head of an IC engine is provided | B. 3cTIGs T 3T Tl
with fins for ' ease of manufacturing
C. et ffashion
D. 30ad e
increasing volume
42 red 20 & @ & AN B A T ge| A a2
UE Jed @ 0T afE BRr smr § A ged @ g' g
3 9a
[EERUN 1 D. a
A circle is drawn touching four comers of a
square of side ‘2a’; then the radius of the
circle is
43|  fettat@d T W1 1000 fRar. & ue s | A 200 kg
W, q@ & al gE o fRE & wa ww | O 1000
tEgifaw fave § fowe frar o &1 Res D-.Skg g
85 Al =A T A2=5A ¢ UThd EH &
AR, FE B IMUN &7 & fov o e
W HELF T §
Refer sketch below. A car of weight 1000 kg
is lifted in a hydraulic lift with two cylinders
filled with a fluid. The piston areas are A1 =A
and A2=5A. By Pascal’s law, the force
required at the smaller piston to support the
car is _ :
Weight = 1000 kg -
Area A2=5A
Area :
Al=A -t 1|7
44 g T Rfsar & A. ®fEr [Cutting

Honing is a process of

B. afeser /Welding
C. fafeser Milling
D. s) R /Bore finishing
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Q. . o
No. Question Answer Options
45 uw goW # Wew s aw fwea & | A Isirae B /Gudgeon pin
i I 39T FFAT ST & B. fRar Rt /king pin
In an engine......... is used between | C. s WA= /Crank pin
Connecting rod and Piston. D. @ T /Normal pin
46| LAMBDA %ds, MPFL yorrél o #r | A.NOx
il e | g g;trol
LAMBDA sensor defects...... in MPFI D CO
system.
47| ar giaesdY &8 & Sisw & AU 39 i 5 | AL @iy G MUniversal joint
|y g B. siwmel G /Knuckle joint
To comnect two intersecting shafts the Joint | C. @g-wg " /Tie -rod joint:
used is........ D, arer wfer /Ball Joint
48 y=x* & wHEHToT § A, g [Circle -
y = x* is equation of B. @3 @ /Siraight line
C. Gusiter /Parabola
D. fegear /Ellipse
49 BR W ST 09 TS G gU RS § A & | A U & fis same
Wr W feegdt W oEee @ go wd §, dF 99 | B 9 & g sier e
& AT F gram| pull is smaller than push
The effect of force, F, on a car when you push | C. 3T ¥ ¥ &ieT ghrr
from back or pull from front at points on a push is smaller than pull
same line (see Figure) D. $& a1 =6l HedUnpredictable
PUSH, PULL, F
T O
S0 3y el e & o Wi ¥ AR F | A X =1
uRrese & FHET § | 2 =y
Equation to intersection of a cylinder with a D. Yy
plane perpendicular to its longitudinal axis is
51 a=wer @ g & IR & 37ard gl A. 39 S F 4 AT

Ratio of Area to Circumference of a circle is

4 times its Diameter

T

C. = & TH =Y Hrar
one fourth of Diameter

D. =i /Diameter

o
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I%;). Question Answer Options
52 %5 W7 Sew ¥ W UR WESHF T R | A. Ui /Parabolic
pers eeersre B. g9&R /square
Shape of reflectors around head lamp bulb is | C. S¥=R /cylindrical
generalb’ D. @ /conical
53 ﬁﬂ?ﬂﬁﬁ_ﬁmamﬁl A. A T GFE

Dog clutch is used in

‘Constant mesh gear box
B. f@@aer /Synchromesh

37T /Differential
D. 3REd  FIg T8

None of the above.

O

54

WNEdHT o9 8 W gger _ H g ol

Combustion occurs at constant pressure

>

Sistel Trswor /Diesel cycle
B. 30t @sshd /Otto cycle
s o uAlsRS Tewd
Any thermodynamic cycle
Fulwd A Pl A& '

None of the above.

o

=

55

(Tl & TAET 3T & arg) BHP &
(With usual notation of symbols) BHP equals

Tawp

2nNT/4500
aNT /4500
2N/4500
27 T/4500

56 (Tehdl % AT 36 & @) [HP § ' A. PLLAN K /4500
(With usual notation of symbols) IHP equals B. LAN K /4500
C. PN K /4500
D. P,LA K /4500
57, 0.001 & 0.00001 ¥ REnRE ¥ A. 1000000
. C. 100
0.001 divided by 0.00001 equals ......
D. 10
58 _ -—biwsz—tiac‘ A ax®+bx+c=0
X—T Q?Eﬁﬁ‘ﬂ?ra?‘r%’ B. ax3+b2=_c2
_ C. a? +b? = xc?
X = %ﬁgare the two real roots of ........ | D. a® +xb? = xc?
59 v TR g POl ¥ aEd i A NI AFe frear left
ST &1 . , B. e dwe /front left
The stepneytyre generally goes to the place | C. e Tge /front right
of..... during rotation D. ¥R e €T frear right tyre
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Question

Answer Options

60| adg Taus o9 Fog HERE § 99 Fod
feode, 9aw &7 & gddia

Clutch slippage while cluich is engaged is
particularly noticeable

A. wEfEEa g9 Ut
At starting engine )

B. &9 Ha@s Usel @@ o@ far e /
When accelerator pedal is pressed

C. fFr & &Rma |
During braking

D. & 331 7 /At low speed

% d& /Rough work
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